1. Shade 8% of this hundred square.

As a fraction, this is equivalent to

As a decimal number, this is equivalent to

2. Shade 23% of this hundred square.

As a fraction, this is equivalent to

As a decimal number, this is equivalent to

3. Shade 75% of this hundred square.

As a fraction, this is equivalent to

As a decimal number, this is equivalent to

4. Shade 33% of this hundred square in blue and 15% in red.

What percentage is not shaded?




5. Is 1% of this bar model shaded? ..................

Explain your reasoning.

6. What percentage of these bar models is shaded?

7. Shade 75% of the first circle and 60% of the second circle.

8. Shade 85% of this bar model.




